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3,05 Pa s8N oS or 23 oS o 3)ls 15 683 S Jlo el st (s S L s

) 0l

L L [0 —17r171. 7017 11
ni=wihytb _[0.6 —0.4] [—1]+[0.1]_[1.1
LAy [
a' = ssign(n') = SSlng( 1.1]) = [1]
2 241 2 1
n* = w4a' + b* =1[0.2 02[]+(02)—06
a? = ssign(n?) = ssign(0.6) = 1

oS o S 1 It Y 35 055 o el g oo iz e Slilie b 5 5 (5 S
w3 (4) = w3(3) +a(t(3) —wz;(3)p(3))p" (3)

wi#) =[06 -04]1+05((-1)—[0.6 —04][])1
wi(4) = [-04 0.6]
wi(4) = wi(3) +a(t(3) —wi(3)p(3))p"(3)

w4 =02 021+05(-D-l02 o2l[}])in

wZ(4) =[-0.3 0.7]

-1
4 0.6

:ﬁf@-’)‘)‘jp4°)l{)3d[’:

n'=wib, + bt = [—04 06” 1] —1(')%9
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al = ssign(n!) = SSign( _1019 ) - [—11]

n? =w?at + b2 =[-03 0.7] [_11] +(0.2) = -0.8

a? = ssign(n?) = ssign(—0.8) = —1
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